
DETAIL  A

 

A

3528 Emery Street

PO BOX 23277

Los Angeles, CA 90023-0277

(323)262-4191  www.trimcobbw.com

email:info@trimcobbw.com

PRODUCTrimcoTEMPLATE NO.

19539

This template is provided for use only on the job for which it was requested.

Trimco reserves the right to make design changes without notice. Trimco will

not be responsible for errors or damage caused by the use of out-of-date templates.

T

DATE

NOTE:

SHT 1  OF 1 

05/20/15

1074-2 & 1074-2C POCKET/BARN DOOR

INSTALLATION INSTRUCTIONS

Strike/Dust Cover Assy

frame

Mounting Screws

frame

Mounting Screws

Strike/Dust Cover Assy

Mortise/Plate Assembly

Bevel

Adjusting Screw

Case Mounting Screws

Bevel Adjusting Screw

Faceplate Screws

Faceplate

N1074023034

Rose

Rose Mounting

Screws

Lever

Assembly

Lever

Assembly

1/4" Adaptor Screws

Mounting

Screws

M1074023032

3/8" Adaptor Screws

3/8" Adaptor Screws

Thumbturn

Assembly

Mounting

Screws

M1074053033

Cylinder

Wave Washer

Cylinder Collar

Rev Record:Created 10-31-12 SH/JG

ADDED VIEW FOR CYLINDER HOLE ON STEP 3,  SGH/JG 08/27/13

ADDED "SLIDE" LABEL TO STEPS 4 AND 5 OF INSTALLATION INSTRUCTIONS,  SGH/JG 03/14/14

HARDWARE INSTALLATION STEP 2, 3/8" ADAPTOR SCREWS WAS: ADAPTOR SCREWS (2 PLCS), 

STEP 3, ADDED (2) 1/4" ADAPTOR SCREWS, SGH/JG, 12/10/14

REPLACED LOCK CASE WITH MORTISE/PLATE ASSEMBLY, REPLACED STRIKE WITH STRIKE BOX ASSEMBLY,

ADDED “WOOD FRAME” TO FRAME PREP BOX 4, ADDED FRAME PREP BOX 5 FOR METAL FRAMES, SGH/JG, 3/11/15

CHANGED TITLE: 1074-2 & 1074-2C POCKET/BARN DOOR INSTALLATION INSTRUCTIONS WAS:1074-2 POCKET/BARN DOOR INSTALLATION INSTRUCTIONS,

ADDED "1074-2 STRIKE/COVER ASSEMBLY SHOWN" TO STEPS 4 AND 5 OF DOOR AND FRAME PREP INSTRUCTIONS, SGH/JG, 04/22/15

CORRECTED FRAME 3 OF DOOR AND FRAME PREPERATION, SGH/JG, 05/12/15

DOOR AND FRAME PREPARATION INSTRUCTIONS, MODIFIED STEP 3, ADDED (INTERIOR)

AND (EXTERIOR) TEXT AND REMOVED HOLES FROM (EXTERIOR) SIDE, CORRECTED STEP 5, SGH/JG, 05/20/15

MARK CENTERLINES1 MARK DRILL POINTS
2

MORTISE AND DRILL HOLES
3

DOOR AND FRAME PREPARATION/TEMPLATE INSTRUCTIONS

1 3INSTALL ADAPTOR SCREWS

& LEVER ASSEMBLIES

 

INSTALL LOCK, REMOVE FACEPLATE AND SET ASIDE.
2 INSTALL THUMBTURN 

ASSEMBLY

INSTALL CYLINDER ASSEMBLY
4

4
INSTALL STRIKE - WOOD FRAME

INSTALL FACEPLATE5

INSTALL STRIKE - METAL FRAME
5

Surface mounted strike

Mark the horizontal centerline of the lock

on both sides of the door and on door's

edge.

Drill the holes that have been marked and

mortise door - Reference applicable

Templates, Sheets 1 &2, for hole dia/depth

and mortise prep specifications.

Position the applicable Template

on the edge and the sides of door.

Mark holes for each side and top

and bottom holes of mortise.

To bevel lock, loosen adjustment screws at top and bottom of case,

turn to desired bevel and re-tighten screws. Insert lock into cavity

and fasten screws.

Prep door frame per applicable Template,

Sheet 3, and install strike/dust cover assy.

Faceplate

Faceplate Screws

"right hand shown"

Cylinder Plug Orientation

M1074093032

Label:

M1074120053

M1074113032

Cylinder  Hole

install slide label

HARDWARE INSTALLATION

Prep door frame per applicable Template,

Sheet 4, and install strike/dust cover assy.

1074-2 STRIKE/DUST COVER ASSEMBLY SHOWN

1074-2C STRIKE/DUST COVER ASSEMBLY SHOWN

These four holes

for lock indicator

only

(Interior)

(Exterior)


